Background:

1.

2.

Development means positive change that
makes things better.

As a country develops it usually means that the
people’s standard of living and quality of life
improve. (B)

Different factors can affect development such
as economic, social and political factors. (A)
Emerging countries have begun to experience
higher rates of development, with a rapid
growth in secondary industries. (A, C)
Emerging countries have some of the fastest
rates of urbanisation in the world. (D)

This is causing urban areas (cities) to become
highly populated, this process can have both
opportunities and challenges. One such
challenge is the growth of squatter settlements.
(E)

Emerging countries often host the factories of
many transnational companies. They provide
wages and taxes, and can promote
development. However, they can also cause
negatives. (F, G)

C. | Encouraging development (4)

B. Development indicators (3)

GDP per The total value of goods and services

capita sold by a country in a year divided by
the population.

HDI A development measure which
combines GDP per capita, life
expectancy and literacy rate.

Life The average age you are expected to

expectancy live to in a country.

D. Rural to urban migration (4)

Subsidy Money given by a government to help an
industry keep down the cost of exports.

Tax This reduces the amount of tax a

breaks company must pay (normally for a fixed
period), therefore increasing profit.

Minimum The lowest wage permitted by law in a

wage country.

Trade An organisation of workers who work to

unions protect the rights of those employed.

Rural to urban
migration

The movement of people from
rural areas (countryside) to urban
areas (cities).

E. Squatter settlements (5)

Push factor

Things that make people want to
leave an area e.g. a lack of jobs.

Pull factor

Things that attract people to live
in an area e.g. good health care.

A.

Characteristics of emerging countries (7)

BRIC countries

Brazil, Russia, India, China.

Mechanisation

When machines begin to do the
work which humans once

MINT countries

Mexico, Indonesia, Nigeria,
Turkey.

Industrialisation

The process of a country
moving from mostly agriculture
(farming) to manufacturing

completed.

F. Transnational corporations (TNCs) (5)

Transnational Those that operate across more

corporation than one country.

Footloose Industries which are not tied to a
location due to natural resources
or transport links.

Globalisation The increased connectivity of

countries around the world e.g.
through trade.

(making) goods.
Employment How the workforce is divided up
structure between primary, secondary,
tertiary and quaternary
employment.
Secondary An industry which manufactures
industry goods.
Exports Sending goods to another

country for sale.

Host country

The country where the TNC
places it’s factories e.g. in an
emerging or developing country.

Urbanisation

The growth in the number/
proportion of people living in
towns and cities.

Source country

The country where the
headquarters for the TNC is
located e.g. a developed
country.

Squatter/ An area (often illegal) of poor quality
shanty housing, lacking basic services e.g.
settlement water.
Inequality Differences in wealth, and wellbeing.
Sanitation Measures to protect public health e.qg.
clean water and disposing of sewage.
Informal Jobs which are not taxed, workers do
economy not have contracts or rights.
Quality of A measure of how ‘wealthy’ people
life are, but measured using housing,
employment and environment, rather
than income.
G. Impact of TNCs
Positive: 1. More jobs.
(5) 2. More taxes.
3. Invest in infrastructure projects.
4. GDP increases.
5. Develop workers skills.
Negative: 1. Can exploit workers e.g. long hours.
3 2. Most of the profits from TNCs leave
the country where production takes
place.
3. Increased levels of pollution e.g. air
and water (from industrial waste).
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